LABJNDuS triangle lightness T*

T* =L w nc=100,

T*L aganpus =[IN[A 1n+A2Y)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=218,T*(18)=496,T*(90)=772

log[T*/T*,]=0, m;=0,33 -
A Y g
L* =49, T* =496 e
't

Iog(AY)
AY

LABJINDu8

tristimulus value difference

Yoc=L*w - nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019

47496 dY,=0,13 dY,/Y,=0,097
Iog(dY):O 13 my=0,80

2= TR
application
range
Y,=18

Yw=90

=7
>0
1

1

1

1

Yn=3.6

log (AY/Y) LABJINDuUS
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y

N
Iog@dY/VyE-213 m_—o 1 %T){?gg;ﬂvﬁ
1 L

T*,=496 dY =0,13 dYj, /Y O 0072
1

1
'y,=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu8
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

log(Y/dY)2,13 m=0,18
-~ application’
range
Y,=18
Yw=90

TEIT
T,

LABJINDuS relative triangle lightness T*/T*,,
Ync_L w nc‘loov

T aganbus =[IN[A 1n+A2nV)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#(3,6)=218.T* ,(18)=496.T*y(90)=772

log[T*/T,
L*, =49, T* ;=496

N=36 V=90

LABJNDuS relative
tristimulus value difference

Yne=L*w ne=100,
T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY =AgnlA 1ntAYI/dY,

log (A YIAY,)
AYIAY,

a;plicatijn-
range

YN=3.6 . Yw=90

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yd/100<Y<=Y,()
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

S
~
~

e R

logl(dY/YY(dY/Y),]=0, m=-0,18 1 ——
* =496 dY,=0,13 dY,/Y,=0,0072} ?g’%‘gm")”
1y,=18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDUuS relative
tistimulus value contrast

CrlCr=(YIRVIYIAY)y . 21w, ” 2 2100,

T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y)TA onAgrAgr VI (Y/AY),

log[(Y/dY)(Y/dY),]=0, m,=0,18
* =496 dY,=

—
13 Yy/dY, #2351 R —
P ] application
1 range
Iy,=18
Yy =90

-

YN=3.6




